FB2.1
1)

2)

3)

4)

5)

Simplify 3a + 5b +a — 2b

Expand 3(2x + 4)

Work out 36 X 28

Complete 350 cm = ...........

Work out %of £536



FB2.2
1)

2)

3)

4)

5)

Work out £84.35 + £6.85

Work out $74.45 - $27.55

Work out the value of 5a — 8 whena = 6

Work out 87.2 X 100

Solvex -8 =4



FB2.3 _.EEIE
1)  Simplify3a —4b + 5a+ b E!l .:- w
= ey |

2)  Expand 5(3 — 2x)

3) Workout 21 x 27

4) Complete 540 mm = ........... m

5) Work out %of £728



FB2.4
1)

2)

3)

4)

5)

Work out £37.10 + £34.95

Work out $33.15 - $16.40

Work out the value of 60 — 5a whena = 8

Work out 6.397 X 100

Solve x X 6 = 24



FB2.5
1)

2)

3)

4)

5)

Simplify 6a — 3b — 5a + 3b

Expand 6(3x — 4)

Work out 335 X 7

Complete 680 mm = ........... cm

Work out %of £2264
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FB2.6
1)

2)

3)

4)

5)

Work out £84.35 + £47.65

Work out £45.25 - £28.75

Work out the value of 30 — 3b when b =7

Work out 5.2 X 1000

Solvex -6 =12
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